i xi
n lim (3+x)

X— =120

limitinin degeri kagtir?

A) =3 B) —1 C)0 D) 3

2. (2—x+i_1)
X

X—» 00

limitinin degeri kactir?
A)=3 B) -1 C)0 D) 1
3. BT (3—x+%+1)
X 00 X

limitinin degeri kagtir?

A)5 B) 4 C)3 D)2

NS

X— 00

=X

limitinin degeri kagtir?

A)—w B)O C) 1 D) 2

5. | lim 3x. 4

X—0

limitinin degeri kagtir?

1
E lim (5" +4"+2)

X—m=00

limitinin degeri kagtir?
A)4 B)3 C)2 D)1

lim (2+ 1)

X— 0

limitinin degeri kagtir?

E) 4

E)3

E) 1

41
)20



A) — 0 B) —1 C)1

8. lim (5=<_ (%)_' + 1)

X—=—00

limitinin degeri kactir?

A)—co B)-2 C)0

WWW.SUPErSoru.com

Cevaplar :
1)C, 2)B, 3)E, 4B, 5)A, 6)B, 7)C, 8)D,

D) 2



